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MULTI DISCIPLINARY COURSE
Full Marks : 45

Time : 2 hours

The figures in the margin indicate full marks for the questions

Answer the questions from any one Option

OPTION—A : Natural and Physical Sciences in Everyday Life
Paper Code : MDC0200103

OPTION—B : Foundations of Mathematical Sciences—II
" Paper Code : MDC0200203

opTION—C : Information Sources and Services
Paper Code : MDC0200303

oprioN—D : Personal Financial Management
Paper Code : MDC0200403

OPTION—E : Humanities and Social Sciences—II :
Democracy and Peoples’ Rights

Paper Code : MDC0200503

OPTION—TF : Information and Communication Technologies—II
Paper Code : MDC0200603

op';'ION—G : Life Sciences and Environment
Paper Code : MDC0200703

oprioN—H : Understanding the Changing Environment
Paper Code : MDC0200803

optioN—I : Business Economics
Paper Code : MDC0200903
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OPTION—A 2. Answer any five of the following questions : 2x5=10
* Paper Code : MDC0200103 | S AR 7 e <Hiebr e fraw -
( Natural and Physical Sciences in Everyday Life ) (@) What is the name of natural monosaccharide found in fruits

and honey? Is it soluble in water?

1. Answer the following as directed : 1x5=5 s
were AR PAIRpIR S gy - T R (O I 2Tgfes T PRIZEOR AW 2 3 e wdwe
R ?
(a) is the simplest amino acid. (b) What is nuclear battery?
(Fill in the blank) fedn @R &9
— X e R @fde | (1R 31 =3 <o)

(c) What are vitamins? Why are water-soluble vitamins required

()  Which of the following contains limestone, clay and gypsum as in small amounts daily?

raw materials? | STz & & 2 onfte wam fevfrz fou fog «fimere trfie e
P, R S Reeior e g (351 SN 2 A7 ‘
() Cement / % (d) Mention two differences between soap and detergent.
(ii) Glass / am SICAI S SowIee q&d 761 A1) Srary 4 |
(iti) Ceramics / Bamifs ‘ .
' L () What are micronutrients? Explain the role of iodine in our
(iv) Plastic / uRs (Choose the correct answer) ' body
(wa TeaCh! AR Thiean) : o —
TRw ez & e 2 SR [ R g f,
(c) What is the full form of MRI? () What are called future fuels?
MR =1 301 R 2 S T 1 (FE 2
d) Write the names of the two electrodes of a battery cell, Define peptide bond.
(@ (9)
@I (P UOR AZ'S o i B | ‘ ' CoPelbiET e wige il |
(e) The four elements most essential to every living thing are (h) What are germicides? Give one example.
AR B9 A SToiRete afy, eicamea (o1 BiRRY 3 ReneprreTz 5 72 @br Trrae fn |
(i) H, C, N, O (i)  What are the constituents of greenhoyse gases?
(@ H, C, N, F Temeprgz & 2
(@) H, Li, N, O CTEER (TR
5 SO B (Choose the correct answer) ()  Write two examples of pesticides.
(o= Teach a1f Shvean) o Siparerea 751 T o |
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3. Answer any four of the following questions : 5x4=20
R 2ERA R @ wiRtR Sk f

(@)

(b)

(c)

(d)

(e)

(9)

(h)

A25/690

Explain the steps of wastewater treatment.

e *NA MR 1B A 40 |

Write five differences between primary and secondary battery
cells.

I € Nl @1 coraa Tre #io5) onefe o 1

What are beverages? Write the three classes of sports drinks
with their functions.

AR & 52 (e qrams fefafdy iMaa 9 SIE S0ORE TR
foram

How many ‘carbon atoms are present in glucose molecule?
Draw the chemical structures of glucose and fructose.  1+(2+2)=5

YIS Rl w o ocm? g OF FIOE WA R
IETERRE STR957 TBR g weam 2 |

What is soap? Give the chemical name of soap. Write some
uses of soap.

SR 7 SRR <miRfe S R | SEER (FRORE TRRE I
feram

What is solution? What are the different types of solution?
Give examples of the following types of solution :

w7 3 7 was Rfon ez f R wom ooz BoRad fia
(i) Solid in liquid solution/@%@® CSIG! *MI¥q T
(i) Solid in solid solution/¢sMBT® 3B M4 Tq

What is’ emulsion? Write different types of emylsion with
examples. :

v 3 7 wwas [{fen arvrenza R S fgy |
Write a short note on any one of the following -
were fra f (e bR o vy (Gt e

(i) Greenhouse effect/CiEsz oo
(i) Acid rain/wg 32

[4] ( Continued )

4. Answer any one of the following .questions : 10

o 2R R @ @b Te

(@)

(b)

(c)

(@)

A25/690

What are conventional and non-conventional sources of
energy? Write briefly about three non-conventional sources
of energy. What are the benefits of using non-conventional
sources of energy? 10

TR HF RIS *feq T & 57 R e weree
e Test S TE o | SerRiRere e araeR FRee [ & sy
CoIRT R 2

(i What are colloids? How is a colloid different from a solution?
What are the methods used in preparing a colloid? 1+1+3=5
ez [ 7 96 S we <GB w@ R fn = e
51 2fFe Feae 3 R rals wkere v = e

(i) What do you mean by natural and synthetic pesticides?

Explain with the help of example. 5
oligpfess S SR SO FC 16 o1 2 SwraepTz @i o |

() What are pollutants and contaminants? What do you

mean by heavy metal poisoning? Discuss about the toxic
effect of Cd and Hg on human health. 1+1+3=5

o o R [ 2 aw aigt e e B ogme wew
ST Cd =% Hgd RIS 2R [0 SIeem=y 41 |

(i) Discuss, in detail, about the classification of protein by

giving suitable examples of each class. S

ofecsl i TgE TR 4’ e R Remer
I ¥4 |

(i) Discuss the different sewage treatment methods. 5
e M whreser [fen TEST <7721 < |
(i) Describe any five non-conventional energy resources. 5
R I A0TSR e o= Ry gofeyy <o |
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OPTION—B
Paper Code : MDC0200203

( Foundations of Mathematical Sciences—II )

! . 1x5=5
1. Answer the following questions :

oo eppTgRd ed forl :
fa) “Ifa number is divisible by 9, then the number is divisible by
3.” Find the contrapositive of the statement. .
‘i @Bl kY 9@ Ko =W, corg RACB! 33 e 2791”7 TR
ReAre e SfeCol for |

(p) How many different types of salad
6 vegetables?

634 *S-oIpfea [FImiRy vrems g =i 2

(¢ I HAPPY’ is coded as UJDPSA’ and ‘DANCE’ .
‘FDNFG’, then what will be the code for ‘CLASS™
i ‘HAPPY’ *Rith% ‘JDPSA'H (ol T ¥ ‘DANCE’ *EUie
FDNFG'® 071 7, (903 ‘CLASS’ *rrhies e o T ?

¢9 +3 =8, then find

s can be made from

is coded as

(d) If p stands for 1+1=2"and g stands for
the truth value of pvg.

qf 1+1="2' T p@ TF 243 = & IR0 & T A, (9
pv g3 o e =T

(¢) What is the relation among mean, median and mode?
4y, WA SE I AEE IO 7 2

2. Answer any five of the following questions : 2x5=10
oo 2P R @I AAvoR Ted fa -
(@ 1f < means ' 4’ means %, “’ means “’, X’ means 4, then

which of the following equations is correct?

af w2, T ), vl 2 X7 Y Y, (e e
(FICH! TP 2 ?

() 36x4-12+5+3=420

(1) 42 +4+5x8-2=26

(iit) 43x7+5+4-8=25

(iv) 36-12x6+3+4 =60
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(b)

(c)

(d)

(e)

(9)

(h)

(1)

A25/690

Find the median of the following data :
19, 25, 59, 48, 35, 31, 30, 32, 51
If 25 is replaced by 52, then what will be the new median?
SoTe WAl WA/ #[1 F4r ey 4
19, 25, 59, 48, 35, 31, 30, 32, 51
i 253 eIl 52 7, (908 Tg 4w & '3 7

Solve 5x -3 <3x+1, when x is an integer.
S T 5x -3 < 3x +1, T8 x 5T Se WA |

How many quadrilaterals can be formed from 10 non-collinear
points on a plane?

3 STwere 41 1051 AR R =191 Rewmor vodw 0w SR -1f 2

How many natural numbers are there between 192 and 202?
192 i 2027 e RFmb! FreiRE R Hieg ?

If the 10-digit number 897359y7x2 is divisible by 72, then
what is the value of (3x — y) for the possible greatest value of y?
M 729 @1 10 I WY 897359y7x2 Rewy =, 9@ yI o/
i Twa ACE (3x — H) T T 0 2

How many integers between 1 and 500 are divisible by 3 or 5?
1 S 5009 foese 3 W[l 53 ey @@ Rambr oy sikey 2'9,
fAefg | '

Under what condition, the AM and GM of two positive
numbers a and b are equal?

5 PENCCT P! EWRF KA @ WF hI M NG WF Georeq g
RIS R

What is the sum of the coefficients in the expansion of

8

)
2x-—| ?
[ x?

(2x-f§)8aﬁ$ﬁs—®ﬂ§wm%?
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3. Answer any four of the following questions : 5x4=20
o 2 I B T fir -
(a) The angle of elevation of the top of a tower is 30°. On walking

A

()

()

(c)

(@)

(e)

25/699 18]

If A is the brother of B, B is the sister of C and C is the father
of D, then how is D related to A?

A 73z BY Si%; B txr C ©A@ W@ C (xR DA @O, (STR'TA
DR Pce A4 & 571¢ =z ?

20 metres nearer in the direction of the tower, the angle of
elevation is found to be 60°. Find the height of the tower.

51 W AR 2 o (I 30°. BB/ frere 20 5™ Sea =ik
e T (I 60° T | B Tl el 1

A train passes by a signal post in 30 seconds and 125 metres
long bridge in 45 seconds. Find the length and speed of
the train.

@R (@I 30 (FYS b1 FKeFs Y1 e 125 5/ T wor g3+
45 (agees SFST TR A | EIORAR T S 301 e <1

The ratio of three consecutive terms in the expression of
L+x)" is 1:7:42. Find the value of n.

1+ x)"a Regfos fofitr e o o Sl 1:7:42. i T Refy
+4q1

A rectangular piece of paper 11 cm x4 cm is folded without
overlapping to make a cylinder of height 4 cm. Find the

volume of the cylinder. ‘

11 cm x4 cm SHORPHR & G SRITAR AT o1& IR 9B
T ol <Gl 29, TS RED Twol 4 cm R | I FOROR wes
(Ferfer) fefer <0 )

Find the sum of the following :
werd GITFeTCo! e <

10
2% +3k2?)
k=1

( Continued )

Uj]

(g)

(h)

4. Answer any one of the following questions : 10
TR 2RCAR R (Rle @b T
(@) (i) If the sum of three consecutive terms of an AP is 21 and
the sum of the squares of the terms is 155, find
the terms. 3
@B e AR R Ffie A @eree 21 e BEer 36
CqIs/Fe 155 = | ocepl 7 1% 2
(i) The difference between the AM and GM of two numbers
is 16. If the ratio of the numbers is 1:25 find the
numbers. 3
w1 SRAE IR T AF BT N KA 16, sk KR
el 1125 T R R
(i) In an AM, the sum of first 10 terms is 30 and that of
the next 10 terms is =170. Find the sum of the next
10 terms. 4
SEq W @B 229 1001 SRS o ypeper 30 SF R S
1051 @fe 7 R ~170. 2¥99 “Ieg 1061 @R o @
Sfere |
A25/690 [9] ( Turn Over )

The means of two samples of sizes 50 and 100 respectively are
54:1 and 50-3, and standard deviations are 8 and 7
respectively. Show that the mean and standard deviation
of the combined sample size of 150 are 51:57 and 7:56
respectively.

50 SF 100 IR YOI Afowq T4 &F 54-1 WF 50-3, §F ANO
Rpfe @ 8 e 7 =0 1 T igw 2fomfa IW 150 =, 98 (e @
Sy elferefa g = e Refe @ 51457 5 7-56 = |

The father-mother of a person is 2, grandfather-grandmother
is 4, great grandfather-great grandmother is 8, etc. Find the
10th previous hereditation of a person.

G& e 2 T P19, 4 & FII-H1201, 8 Tl SIS -SICHI-SI135]
FoNfites SR | REEE SIS TRCB! I o SR Sfenea |

If X and Y are two independent random variables, then show
that they are uncorrelated.

T X W Y 151 797 YRS VI W, (O3 (TYSA (F T2 i AR |




OPTION—
() () In how many ways can a group of 4 labourers be formed c
out of 10, if Paper Code : MDC0200303
10 &+ T 41 R 4@ee 4 SRR R T <01 of5 iR ' ( Information Sources and Services
)
MELRIEA 3 1. Answer the following questions : {Ber
(1) a particular labourer is to be included in each group? 3 @eTq 2P Tag i
| : ? .
q ﬁmm #fSCh1. 7S ¢l = (a) What are the two main types of information sources?
(2) :r fj;;icular labourer is to be excluded from each , : : SR o 3 ol 1 7 R 2 '
G+ R FEE RSB 7R 21| AW war =4 2 (b) Give ahy one example of primary documentary sources.
; 5 Pri t SICERUNCa o) THIeg
() Find the term independent of x in the expansion of rimary documentary sourcetd/< fl <51 o i |
g .
1 (c) What are secondary sources of information?
2x + — 4
3x w29 (M Ty et e 2
9
(2 ” +3L2) 3 Regfos x-afw opch el <1 | (d What is the full form of SDI?
x .
: SDIR 57}l <Ic! & 2
(c) The number of runs scored by two cricket players Riyan and | (e) What is biography?
Sanju in ten different innings are as follows : Giaemite 32 |
k] i
e e CILa TRt o =g weh1 RS 2R TR T PR T e
g 4999 : 2. Answer any five from the following questions : 2x5=10
Riyan o SPCARE o1 R e #eer Ted i
: 46 120 76 42 04 51 37 84 13 02 .
A= | (@) What do you mean by interlibrary loan?
ggn_]u : 12 115 06 73 07 19 79 36 84 o9 | Interlibrary loan IFre= % @12
_ ) ) (b) Write down the difference between print and electronic
(1,) Who 1S more Cons;stent? 5 sources of information» .
@ Al Sffers 2 ' ©) print W electronic SOPIER T #A1ef 41 |
(i) Who is the better run scorer? 5 (c) Write the difference between indexing and abstracting
CPITEE (AR ST T FA1EF 7 services.

Indexing < abstracting CIS TS #12fgy forann |

(d) Distinguish CAS and SDIL
CAS HF SDIF 3¢ <41 |

A25/690 [11] ( Turn Over)
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(e} Describe any five types of database of e-resources.

(e) What are the geographical sources of information?
B-57q R I A4ReR OBIaRd 9ol 3997 |

w7 o SR &9
(/ What is a dictionary? Write about the uses of dictionary.

() Write the difference between dictionary and encyclopaedia.
S .7 wfeqr = [ B

AT S FRPCPra T el for |
(g) Write about the importance of referral service in libraries.

ST referral serviced 4G g g |

(g What do you mean by digital literacy?

Rofircs s P R @ 2
() Give any two cxamples of Web 2.0, i o) ol M- iteins b
Web 2.09 R el 751 Srzaet | " | Roftrcsen e Gl R o o7 O T cerieive X
(i) What do you know about the terms ‘misinformation’ and FACE for |
‘disinformation’ on social media.
ANRE WIS ‘misinformation’ F ‘disinformation’ qﬁlﬁ{ & 4. Answer any one from the following questions : 10

T&? OO 2T o1 TR e @b T fira

(a) What do you mean by documentary sources? Explain various
types of documentary source of information.

Documentary sourcetdd ﬂﬁ'@l 53 @7 eIl documentary
sourced [fen za REC =M ¥4 |

() What are e-books and e-journals?
e-books W% e-journals 2

3. Answer any four from the following questions : 5x4=20

w7 2HERA 2[R’ I wifeR Tew fa () What is reference service? Differentiate between long-range

reference service and short-range reference service.

(@) Write ab.out documentary and non-documentary sources of spieat T 7 Long-range 2901 ORI ST short-range o
information. ! st CRR

2@ documentary 9% non-documentary SR R foe |

() What are bibliographical sources? Write the wuses of
bibliographies in research work,

(b) Write about the evaluation of reference sources,
Bibliographical ¥ I & 917 e ¢%@e bibliographys

TP SO AN R fe |

| IREAE IS e
(¢ What do you mean by media convergence? Write its impacts | |
5 . d) What are digital reference services? Write th o
Media convergence {\7?113'1 ﬁ‘ T« ? TR 2o S foran (d) and importance of digital reference service e characteristics
s ) ?
| (d) ~Write the use of social networking platform for library services R[5 f?{j [ fR ® CRR Ify e
SFEIE CRR CFa© NWIeF (\hafes (obedy et . ISfecser e
A25/690 L3l ( Turn Over)
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OPTION—D 2. Answer any five of the following questions : 2x5=10
Paper Code : MDC0200403 . woT il ercare i e Siibra T o«
P 1Fi ial M ment ‘ h
{ Pexsonal Finsncial Manage ) (@) State the concept of investment with examples.
1. Answer the following as directed : 1x5=5 eItz RffcaerR SRRIRURUIS IR
were fraTcaRa Forpi Tes o .
(b) What is primary market?
HPI7RG A 19 2
: the fi ial i _ {c) State two advantages of pension fund.
(p) What is the maximum duration of the linancial instruments :
traded in money market? : Sl iﬁ” EBT ;iﬁsﬂ ferar 1
a1 TS TP 91 {87 et e oA R 2 :
(d) Mention two instruments of money market.
(i) Less than a year/432qo(s8 ¥ - w51 e S

(i) Six months/®IZ

(iii) Three months/fefmz (e) State two features of capital market.

(iv) One year/9%3%q e e o1 CafIB) Sy M|
(Choose the correct answer)
(wa Te0h AR Tferean) () Mention two participants of derivatives market in India.
TR (SIS TR o LRI A Tewy 41 |
(c) Name the broad market index of NSE. ,
NSEA 99 Ia/9 51d 7 % 2 ' (g) State two benefits of investing in mutual funds.
() SENSEX A +ffere RivcaeE wH1 <1 SCE 41 |
(1) NIFTY (h) Write two differences between fundamental analysis and
(i) HANG SENG | technical analysis.
(iv) DOW . (Choose the correct answer) G Rord oIF FRea ROmeR e 161 «1f B |
(o= B! 71 Bferey)
. . . . (i)  Write two differences between primary market and secondary
(d) Pie chart is a tool of technical analysis. market.
(State True or False) 5ol ISR S{TWEE‘T
RS spreifile o S (AN M1 forat |
“7% 56 Ca0" [R[&REE kﬂ%]@ml (o ﬂﬁ{@%%‘#ﬂ)
(e) What is fundamental analysis? ()  Mention two benefits of investment in gold.
¢infere fReme s 1 2 : e R 751 1R TEy 90
[15] ( Turn Over )
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3. Write short notes on any four of the following : 5x4=20
oo farad R @ vfeR evme 5y (e for -
-{a) Investment environment/RfFcas® #f{ce
(b) Non-security form of investment /S 1-2ifS9 w91 R
(c) Contents of a prospecms/@;{'&ﬁ‘*m o Rz
(d) Insurance /3
(e) Foreign exchange market /(3cie R @™
() Securities market/afogfeq TER
(g9 Types of derivatives market /(SiEceive IERT A4FH
(h) Benefits of stock exchange/#foefs Rifmacema JRycam
4. Answer any one of the following questions : 10

o] 2 R @ @bR Tes fan

(@)

(b)

(c)

! (d)

425/690 [16]

What is investment decision process? Discuss the various
steps involved in an investment decision process,

Rifcnem Frar afemn w2 Rivcnse Prarg ofmm s sivs Rty
eI AT S <641 |

Elaborately discuss the various methods of issuing securities
in the New Issue Market.

ﬁ@ﬁ%ﬁ@ﬁﬁiwgi@@ﬂﬁwﬁﬁﬂﬁ%ﬁﬂﬁmﬁmw
91|

Discuss, in detail, the three main components of fundamental
analysis.

e Reemem 61 321 Temee Raca Reseia s o |

Discuss the structure and limitations of Indian Money Market

SIOR Y4 TEEg S S TARESRE S 947 |

( Continued )

OPTION—E
Paper Code : MDC0200503

( Humanities and Social Sciences—II :
Democracy and Peoples’ Rights )

1. Answer the following as directed : | 1x5=5
T e e e fors -

(@) Constitution is the supreme law of the land.
(Write True or False)

SRRYF (P ST 2 | (37%3 ¢ =pTey fora)
(b) Write any one feature of citizenship.
Mo R crea b1 GafET fora |
(c) IsIndia a truly federal country? (Write Yes or No)
SR 44 2FoIS IS T ? (= ¢ 7=y fora)

(d) In which year was the Right to Information Act enacted in
India?

SRS (@ TS O TR SRS B 247 91 02f%e 0

(e) Who is the author of the book, Democracy and Its Critics?
Democracy and Its Critics 5T 28T (F1IF (T ?

2. Answer any five of the following questions : 2x5=10
were 7l 2R R I 5o Teq ferd

(a) Mention two civil liberties of people.

RS 7Ry T SR TCEd 1 |

(b) Write two differences between constitutional law and ordinary
law

eI e T STl SR T 5 et By |

(c) ~Write two mean.s o1 HeCuirtg CitiZer:tship according to the
Indian Citizenship Act, 1955,

sbeawﬁmmwwmﬁwwzmﬁmml

[17]
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(@)

(e)

(9)

(h)

0)

3. Write short notes on any four of the following :

Mention two features of MGNREGA.
MGNREGAS %51 ¢afi21 Seay <41 |

Mention two essential conditions for successful working of
federalism.

JEAB HIFRA T FRGN 0T Wiz 51 56 e <o |

Mention two aspects of right to equality.
SOR AT o1 ] ey <41 |

Write the full forms of NRHM and NUHM.
NRHM ¥1% NUHM 9 5} %71 751 forat |

Mention two political rights ‘enjoyed by the Indian citizens
TSRO AR ToSIl I 1 AT SRS ST 97 |

Write two differences between Federation and Confederation

TEANE O ARSI & 5 el ey |

Mention two hindrances to good citizenship.
SeeiRegd 11 eifesaeel Srae < |

5x4=20

woTe AT i (e BIfR6r e°[e v (Bt forey -

"(a) Significant features of liberal defnocracy
TrRORTR slTeEa SRR CaErTR
(b) Right to food
YA AP
' (c) Difference between Citizen and Alien
! olfRe = RerRe S el
#

( Continued )

(d)

(e)

Essential conditions for successful working of democracy

STog IFeed N "2 SRt R e
Provisions r_elatjng to education in the Constitution of India

e WRere AR K Tid aErR

Relationship between people’s rights and democracy

GRS SGFE SE STOF A& T E

(g) Globalization and citizenship
e e ATy
(h) Representation in democracy
oz ﬁf\')ia{liﬂﬁ
4. Answer any one of the following questions : 10

w57 e R e @b e o

(a)

(b)

(c)

(d)

A25/690

Discuss critically about National Health Mission.

By e SfeAmE R SO S0l Sisi{egRy |

What is the significance of dissent in democracy? Discuss

sperog Tl IR 6 2 e 5 |

What do you mean by federalism? Discuss the features of
federal government.

qeigam i o o1 7 YETEH IR CaRERTR S w0 |

What is civil liberties movement? Explain its importance in
democracy.

Seifiees iRl S 2 S1TSTS RN 43 ik sy 99 |

[19] { Turn Over )




fe) What is octal number system?

OPTION—F
Paper Code : MDC0200603 Octal number system f& 2
( Information and Communication Technologies—II ) :
(/ What is grey code?
1.. Fill in the blank : 1x5=5 Grey code 57
& 9% 7RI
(g9 What is LAN?
(a) is ‘a programming language. LAN &7
_ o &anfae o
' (h) What is physical media?
(b) The full form of Unicode is . - .
. , - Physical media f&?
Unicode3 #f 1061 27 1

; (o TLHD
() The full form of ASCII is , () ~ What is Wi-Fi
ASCIR = =eieh1 29 . _ Wi-Fi &2

() What is Internet?

(d) ____ is a wireless communication technology.
b1 o KRR Sz erfs | Internet &7
i ide i
(e) is a vi ,0 conferencing platform. 3. Answer any four of the following questions : S5m0
____ BB E conferencing % | - =20
oo Tyl RS RESAGR o e forar

(a) What are the characteristics of an algorithm?

215710 BT aaﬂ’ﬁmmﬁﬁmﬁiﬁ?

2.' Answer any five of the following questions :
et fa 2reared B e #fiebr Tes oy
(b) (i) Convert (27)i0 O binary number.

(aq) What is digital technology? -
2710 2I¢ binary FR¥TS AFT F47 |

Rofese =1 2

Convert (56)g to decimal number.

(b)) What is flowchart? (i)
Flowchart 7 ? - . (56)g W decimal TRITS Teiigq 1 |
() What is algorithm? (c Draw a flowchart to find the largest of three numbers.
we "R 2 fefb! TR S18aCH! SfeRee flowchart Sy |
(d) What is digital information? g (d) Write, in brief, about digital transmission.
fEcos © 59 : Digital transmissiond A 15?[3?5 fora |
A25/690 [21] ( Turn Over )
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(e) Write a short note on Wi-Fi.
Wi-Fi 3 67[® @1 55 (o1l fordt |

() Prepare a list of common types of networking devices.

MHEECS TS (I (T6a¢ S2ER SIferd 2Fe 4 |

(g) Write, in brief, about any one of the programming languages.

R e @1 A’anfe SR e s fers |

(h) What is video conferencing? What are the components of video
conferencing system?

Video conferencing f? Video conferencing system3 ¥o[McarE
fo feo

4. Answer any one of the following questions : 10

wore Al R | e @R T fo

(a) Write an algorithm to convert a decimal number to binary,

9B decimal R4S binary & F#/1%4 FRats1 <B1 qwioifiay 1 |

(b) How is information represented digitally? Explain.
B (AL FOfECheel represent 91 =8 7 47 9 |

(c How to set up a LAN network? Explain.
LAN network (F1C3 Afemiem 3@ =1 2 2 gy |

(d) Write short notes on :

o for 5x2=10
v 9l

(i) Chat application

(il) WWW

[22] '
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1. Answer the following as directed :

OPTION—G
Paper Code : MDC0200703

( Life Sciences and Environment )

weTe TR P e fa -

(@)

(b)

(c)

(@)

(e)

A25/690

Which of the following is a consumer?

THR (PIICH] 93 TOTSTST T 2

(i) Plant/%fe7

(i) Algae/CTR

(i) Fish/T=

(iv) Phytoplankton/®fé% 2 gl

(= Tt AR Sferean)
Which of the following is an example of sedimentary cycle?

e < A L AU AR
(i Oxygen cycle JafEeEm v

(i) Water cycle/SeOF
(i) Sulphur cycle /TTFR bF

' PR O
; n C_YCIB/
(iv) Carbo (Choose the correct answer)

(= Teach AR Bferen)
trophic level.

(Fill in the blank)

oqaTe TR RS T9© A1es |
Q] *RITS
o (=t PAEY o3¢ 3¥4T)
of atmosphere,
(Fill in the blank)

A G e 2 T | (<190 31 o301 )
e full form of BOD.

food chain, producer occupies
In a

i in
Ozone layer 18 present ,

Write th
goDA i T P

[23]
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2. (@) Distinguish between (any three) :
sirefeey foran (R e Fofeilt)

(i Producer and Consumer

TS TE LTSS

(i) Food chain and Food web

2 *33E E A

(i) Parasitism and Mutualism

&R W IRl

(iv) Biotic and Abiotic components of ecosystem

RffoeE CaR S S S

(v) Natality and Mortality rates in population
GRS Tl E TPR TH

(vi) Primary and Secondary pollutant
i WE (N A
() Write on the following (any two) :
o TR ev[e o= (R comeen o)
(i) Dissolved oxygen '
AT S
(i) Ozone layer depletion
'Y’ B9 S
(iij) Biotic community
(= M

(iv) Ecological succession

o foeRT wFe

[24]
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2x3=6

2)(2:4

3. Write notes on / Answer the following (any four : 5x4=20
v FRAIART eoFe (ol ot/ Tes i (R cemeen wifsiy) -

(a) Scope of environmental science /Rt fReem= <R

(bp) Carbon cycle/wb’@

(c) The role of biotechnology in pollution control

ﬁ@qﬁﬁﬁwﬁﬁﬁﬂﬁ'ﬁm?ﬁ@

(d) Characteristics of population /&R CIFEFTZ

Discuss the causes of global warming.
(o g g PIPTR SCEALAl 1 |
ers of atmosphere/JRA%FY fifen IR

(e)

() Different lay

Define biome. Write four characters of tropical rainforest

m,mﬂmﬁmlﬁﬂﬂﬂ?‘ﬁﬂﬁﬁmml
se. effect/ TSR “RTG

(g)

(h) Greenhou

4. Answer elaborately (@Y one) : -
qeas veq faan (R el @av) :
(a) Discuss the impact of climate change on living organisms
WWWW oS #{1 AR TR SO 47 |
1) What do you mean by water porution? What are the differen
sources of water pollu-tmn? Discuss the effects of water
pollution on living organism. 1+4+5=10
mﬁ}a@qqﬁﬁﬁﬁ? o 2 RS Torme & &2 Sy wome
o) et 2R ST ¥
(c) Describe the flow of energy in an ecosystem.,
RS mqu?ﬂs 1 541
(d) write an essay on Sustainable development_
s R 7O g 9641 o 1
25
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OPTION—H (d) What is lapse rate?
, Paper Code : MDC0200803 iR 29 T @I ?
( Understanding the Changing Environment )
. (e) Mention the types of biodiversity.
. An the following questions : B
: ‘T{:wer Wﬁtﬂgq Koo P C3fbare e SrEy 4 |
weq 2PTRA :
: t is ecology?
(@) In which year was the Kyoto Protocol adopted? () What 1s gy
0
RévcH1 e T R a2 SRS A SR
NN - tural and artifici
(b) In which area of the world is the concentration of Bushmen | (g) Distinguish between natural and artificial ecosystem.
Tribes found? oo i gfe RO S I e
AR (P TS TR TS (AT TS (1 ¢ 0 2 (h) What is food chain?

() Who is the father of Green Revolution in India? 2 g4 FIe (e ?

s CIvE Rydd e 9% (PR A? : () What is the role of decomposers in an ecosystem?
| Ry e R B 12

(d) Which toxic gas was responsible for ‘Bhopal Disaster?
house gases in the atmosphere.

coricD] TS (ored A e et viafbe e ?
() Name the green
() In which layer of the atmosphere does the temperatyre S o] (IEER (o2 AN fora |
decrease with the height?
T (I TS TN R TN A TS AARLE 3. A any four of the following questions : Sx4=20
. WETr .
ns o B T sifom e
e 2PPTES
2. An f the following questi i .
swer any five o ew g9 ions In very short : 2x5=10 ' < about the structure of atmosphere.
mmvmﬁ@mﬂm%@ﬂwﬁﬁmﬁm: (@) ~Discuss ——
W@m ﬂ:w ﬁm .
(@) Mention the components of environment. ' write & N0t on hydrological cycle of the earth.
b ri
ARCPR TAMPTE, SCed T | % ﬁr@awmﬁ@nﬂﬁmﬁﬁﬂi
(b) Write the gaseous composition of the atmosphere. _ briefly about the concept of balanced environment.
QNG (5B oo TCE B . () D ;WWWWWW'
' ClRMIRY
Mention the role of water vapour in the atmogpp ' e flow of energy in an ecosystem.
(C) p ere. DiSCuSS abOUt th y
d) HICeA= P11
W@ﬂ@@m IR SRl TeEy T4 ( & ¢ T 2R |
aB W
[26] [ Conit [27] ( Turn Over )
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(e) Write the causes and control measures of water pollution.
oA oppEer el e frr R

() Discuss about the causes of Tsunami and its impact on
environment.
TR AR FRel S ~IRCPR SIS T AT ST 4

(g) Write a note on man-made disaster with suitable example in
Indian context.
SAEA (oS WRa-3j2 Trisk Rea TRtz «fb (Ol 19 < |

(h) Write a note on the Wildlife (Protection) Act of India.
SRET A (A Wi @[S «fb (Ol 8O F1

. Answer any one of the following questions : 10
o 2T ol R G @b T
(@) What is biosphere? Explain the characteristics of biospher
e

and state its interrelationship with other segments of ¢}
environment. €

Srmes 7 Qmeer GREPHZ T I WF AfReEeR
oois TR BT Tead T | WS e

OPTION—I
Paper Code : MDC0200903

( Business Economics )

1. Choose the correct answer of the following : Ixees
weTs FRAIaRe s Teah R Tfeed ;
(@) Which of the following is part of microeconomics?
T (T Y weAIfeT B ?
(i) National income
RIERACIE
(i) Unemployment problems of society
e feraeg@n I
(i) Fiscal policy of nation
i3 <1 e
(iv) Price determination of a product
a1 Beerea 7@ A

(b)

If the quantity demanded of a commodity is unresponsive
to change in price, then the demand of that commodity is

ﬁﬂmmﬁmm%mmﬁﬁ%wm,m

otz A oI 2
perfectly inelastic/7 ) SEfoTee

(p) Explain the human adjustment in equatorial biom ()
mountainous biome. > =g (ii) el stidmﬁ
,’ . i) ela
R T WIE ey <" ARTPS TR TR 1 4, <y _— (i) unit clastic/4F® RS
: . ; lastic of fRfogI7 e
(c) Write a note on the relationship between Population ) complete £ o
and environmental degradation. growth [n short ruf when the. output of a firm increases, the
(C) rage fixed cost per unit of a firm will
it o T TR SR T T RS oy (o RV oo s B S TR 5, oA e e
=4 | RS S, (AR ool 9 o AT, cofe Aferd Be
(d) Discuss how deforestation and desertification contrip, (i) im:rease/?ﬂfﬁa
climate change. ute to (i) remain constaﬂt/ﬁa CRUNE
e T I TP (FEAT T ARETS sy 7, - i) decrease/ 2
s 9
28] [29]
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Which of the following statements about the demand curve

2. Answer any five of the following 'questions in short :

2x5=10

@)
of a firm under monopoly is true? So AT R 1 <ot o5 T A ¢
aerElva qETS B 2B B (A9 HES T @I RR9FS ey 7
(@) What is the basic difference in betw ;
(i) In monopoly market, demand curve of a firm exhibits macro-economics? SIS SECor s
positive relationship of price and demand.
i TABeTe HYAIS Aew I A 2
el qeRe @b afevee v @R TR W e i v
STgEs ifiE | (b)) What is trend projection method for demand forecasting?
(i) In monopoly market, demand curve of a firm exhibits oI SRS P CFAS A AT S A 2
inverse relationship of price and demand. () What is th basic diff "
(5 at 1s e basic difference of ‘demand’ ‘ s
aFE IERS @bl AP B @4iE TIRH S W91 T Relfrs o CoOnSUMEr? _ and’ and ‘desire’ of
SRS i | ,
o (STER ‘P WP YRAR'T TS T3 A 5 2
(ii) In monopoly market, demand curve of a firm does not _ ok ] A
exhibit any relationship of demand and price. '(d) Write the basic distinction of opportunity cost and out of
: ocket cost.
i AR @R TERE CFaS 9Bl AT WIR TW bifwg pocket
PTG ST (AT | wﬂmwmﬁawmﬁwwmo@ﬁ?
(iy) Only in the time of ending of monopoly market, the (e) How is isocost line different from isoquant line?
demanc.l curve of a firm shows the relationship of demang @l SH-BeAATA I o[ RSP T 2
and price. T
relBa TERA TG TSCE (I SR W T o () Write the two features of perfect competitive market.
IR TR | spf eifcafroRT I w1 CafiEs ferar |
(e) Which of the following is an example of market form vy, () How is oligopoly market different from monopsony market?
the firms are price-makers? ere ” 5 (O TERA 1 AT 74 7
<o (RTACH GG & BRI IS effopear 7 TG
55 9 () How do you define money and money supply?
) Oligopol
(i) gopoly qqummmﬁ@mﬁw
- gl I
: ti )
(i) Monopolistic competition 3. Answer any four of the fonou;;g questions  : 5x4=20
pifp ToT Tl
frrorgs T TR afecafrer o epaRd R T
_ termining change i
(i) Monopoly (@) What are the factors dete ﬁ.ﬁqg ge in demand?
GO TEE REXR oS FET K d '
(iv) Perfect competition () Write diseconomies in large scale of production.
91*( sferaifarer Ied = oA o7 CFaD ol @ﬂia&ﬂ e 911
590 [30] /690 [31]  ( Turn Over)
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() What is price discrimination? What are the types of price
discrimination? 2+3=5

744 fowel & 2 w9 fomer fifen oom & 2
(d) State how consumptions and savings are related to capital
formation.

TG SO (RS (9] T A TF 2

(e How is Business Economics different from Economics?

TR S SLAST /1 @FET 999 2 |
() How is demand forecasting significant? l‘\
PR SRUEA @A IR ?
4. Answer any one of the following ‘questions : 10
©oq 2R R e @b el fan
(a) Explain the law of demand and its limitation.
vifzm R =i TR M s < |
(b) Explain the cost-output relationship in long run with suitabl
diagram. able
Tee oa 2RI IR O Tl TrefmieT ST oy 4 |
()0 How is price determined in perfect market
Explain. °- competition? ‘
o 2fSTafaTeT TR T et Piefifie = 2 2 e |
(d What is GNP? Analyze the process of determining GNP,  2+8=10
qu@nﬁzﬁ"ﬂ‘ﬂﬁﬂ b B Teetvm Pt TS Rosme 37 |
* % *
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